UNIVERSITY OF OSLO

DEPARTMENT OF ECONOMICS

Term paper in:  ECON4325 – Monetary policy and business fluctuations
Handed out:  Wednesday, March 21, 2007
To be delivered by:  Wednesday, April 11, 2007       before 2:00 p.m.
Place of delivery:  Department office, 12th floor
Further instructions:

· This term paper is compulsory.  Candidates who have passed the compulsory term paper in a previous semester, does not have the right to hand in the term paper again.  This is so, even if the candidate did not pass the exam.
· You must use a printed front page, which will be found at http://www.oekonomi.uio.no/info/EMNER/Forside_obl_eng.doc 
· Note: The students can feel free to discuss with each other how to solve the problems, but each student is supposed to formulate her/his own answers. Only single-authored papers are accepted, and papers that for all practical purposes are identical will not be approved. 
· It is of importance that the term paper is delivered by the deadline (see above).  Term papers delivered after the deadline, will not be corrected.*)  

· All term papers must be delivered to the place given above.  You must not deliver your term paper to the course teacher or send it by e-mail.  

· If the term paper is not accepted, you will be given a new attempt.  If you still not succeed, you will not be permitted to take the exam in this course.  You will then be withdrawn from the exam, so that this will not be an attempt.

*)  If a student believes that she or he has a good cause not to meet the deadline (e.g. illness) she or he should discuss the matter with the course teacher and seek a formal extension.  Normally extension will only be granted when there is a good reason backed by supporting evidence (e.g. medical certificate).

All problems should be answered. Try to answer briefly and to the point.

A
Real business cycle models
(i) Explain the key differences between basic real business cycle models and traditional Keynesian models, including differences in the main assumptions and in the important mechanisms. What was the motivation for developing RBC models?

(ii) What are the effects of a permanent positive productivity shock on the economy? Explain the difference in effects between a permanent and a temporary productivity shock.

(iii) In King and Rebelo, equations

(4.5)
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are described, respectively, as labour demand and labour supply.  Interpret these equations, i.e. explain the right hand side variables, and explain why these variables have the postulated effect on the left-hand side variables. 

(iv) Explain the rationale for Gali’s argument that “exogenous variation in technology plays a very limited role, if any, as sources of the business cycle”. 

B
Lucas incomplete information model

(i) What is the source of output fluctuations in the Lucas incomplete information model?

(ii) Under the assumptions made in Romer 6A, output and inflation in the economy are given by

(6.32) yt = (b/(1+b)) ut
(6.33) πt = c + (b/(1+b)) ut-1 + ut/(1+b)

where yt is aggregate output, πt is inflation, c is the drift in the money stock, b is the slope-coefficient in the Lucas supply curve, and ut is a white noise shock to the money stock process.

Explain why a positive shock to the money stock gives rise to both higher output and higher inflation. Explain why in the following period, the shock only affects inflation. . 

(iii) Assume that producers instead have adaptive expectations with respect to the price level, i.e. that producers’ expected price E[pt] = pt-1. Derive aggregate output and inflation as functions of the money stock mt and the lagged price level. Within this model, can the monetary policy maker affect output and inflation? 

(iv) Discuss the plausibility of the assumptions made in (iii). Are there any circumstances under which this postulated expectation formation is plausible?

C
Time-inconsistency

Suppose that the preferences of the government are represented by the following loss

function:

 MACROBUTTON MTPlaceRef \* MERGEFORMAT (1.1)
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where πt is inflation and yt is output, measured as deviation from potential output. y* > 0 is the government’s output target.

(i) Why could the government (society) have a target for output that exceeds potential output? 

(ii) The inflationary bias is defined as
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. Derive optimal monetary policy under discretion and show how the inflationary bias depends on the output target y*.

(iii) Show how the inflationary bias can be removed by adding a term cπt to the loss function (1.1)

 with an appropriately specified coefficient c. How could such a term be interpreted?
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